R =""EEAEE - =_""Elszoll |2 B
%17 2 INGS EIREEwmE a8 EE
17th International Mathematics Primary Contest (Taiwan)
[BR A AR A

— ~ (R 10 4 0 250 47)

( CHLE - ZW A BRES) - H—RW A FIHE EHE 77 4% R 300 AR B9#E18
B FARE—REEETE 60 7 - ZB—REBE 40 70 - JIFF ~ 2R A 3818 - BT
%/ DN RA% o W EAE S [E — i BE A €
(A)300 (B)450 (©)600 (D)700

<fi#tr>

60 1 40 HY g/ VA =120

120+60=2

300x2=600 > #E C -

(D NIEER 20 AEaIREITA 100 A5EaY7K  sABEOEK  FH A 5 A TR
TN A TEIK » ARG EEKIEE? (A)20 (B)22 (C)24 (D)25 A%

<f#HT>

20:100=5:[]

[ 1=100+(20+5)=25 > #E D -

( C NBFEEEHEENR WE > FHEE  FrIZEINEREEE S /DT AR

(A)78.52 (B)79.26 (C)80.07 (D)80.24
<FEAT> &

TXTx3.14+2=76.93 TEAR | TAR
2x2x3.14+4=3.14 rar

76.93+3.14=80.07 » #E C - |

o
-?4‘!‘”\0

e,

( B ME—HIE FREISEIA—REE > FFE 20 KA LISEL » BRAEEE
12 RET > AIEFREEFMEIN&E T A —LETE? (A)5 B)10 (O)15 (D)20

<f#HT>

15%x20=300

300+12=25

25-15=10> #EB -

FLH/TH



(B S EEFEREE AT TS B/ NS 79.2 AN E ot HATFEEEEE 186.12 AHHEHE
EEVEMA - M4 05 48 7 1% WGl o B1 [0
(A)1 BF 50 47 (B)2 B 21 73(O)2 B 25 43 (D)2 BF 30 47

<fEHT>

186.12+79.2=2.35 > 0.35x60=21 » &% 2 HF 21 93 » BEB »

( C 6L AR/ MBI EITICERR & 25 o0 ~ | 15 A0 aalE - /iR - B
JBL ~ BB ~ AL > e HYMESRY] > SEE A 2/ DB AR R RS
1580 A5 EVEEFE? (A)84 (B)8S ()86 (D)88 HE

<f#HT>
1580+(25+15+15)=28------ 40
40=25+15

28x3+2=86 » #E C o B =5 =

( C )T IGLEFTEFAR FHEERTEQTT: " HfE2Z 100 7T @ a[fki@shiEs 300 7 - i
300 FPEVER S - HFFPLL 0.2 TEaTE P IRES —FFEE T HEH AR = A >
FPEEEE 0.25 7T 0 AMIEYEE HEsE 2/ DI > T 35518 =R
I RE FIFEE? (A)600 (B)700 (C)800 (D)900

<f#RT>

{EREsemEE i x 70

100+(x-300)x0.2=xx0.25

100+0.2x-60=0.25x

40=0.05x > x=800 » 7 C o

( C W MNHEEMEFERIAEE - REFE 800 FIrag - &l "7, WioEE b

539

(A)10 (B)15 (C)17 (D)20
<ﬁ§$ﬁ'> 4 14 \\ 16 6
(4+16)x6+2x2=120 ’
800-120=680 i,
680+ (4+14+16+6)=17 » 3 C - ]

(D V. ESTHAVEHLLISZ 150 & - EAHEAYEZEZIGHY 3%{% > [ FERITS LA

2%/ DEENA)235 (B)240 (C)250 (D)270
<f#fT>
150+(7-2)=30
30x(742)=270 > BED o

F2H/FTH



(B )10 HEF=0E > 1F 1:25000 FYHNELEE 8 /A% » #ISEDIAE# 3 /N B > £F 8
BE 30 47 HH 8% - S S RvEnE 22 iF 4577
(A9 FF 547 (B)9HF 10 43 (C)9 BF 20 43 (D)9 HF 25 47

<fEHT>

25000x8=200000

200000 97=2 N EH

2+3x60=40

8 BF 30 73+40 47=0 BF 10 47 » B »

( C >11.Eﬁﬁ%ﬂm§§j\$§ : Zﬁ%’%ﬂ%l% Sy THERESES > 10 K1k > WIsEA

EHD5E () 31 (B) 3, (O M5 D) 35y
<[>
103

1 .1 1 .
2—+1—)x10=—-=34— > 35 C o
( 3 10) 3 3 =

( D IREHK ~ FEENE 84 5% > H 3 FRISCHTEE & Tl 2 £ > B4
FHE =22/ DR (A)18 (B)20 (C)24 (D)26

<fEHT>

84-3-3=78

78+(2+1)=26 » #E D -

(A DIBBEEABREERT B4R —SERREIT 505 b B —RE G e -
WRNF—51532 77 N—515 1 57 > W57 - sAHW— Bk ?
R w4
(ASEER > B 1 BB > w20 OH—B @ w1 7D > i 2

éj\

<fi#tr>
L BR:25%24+5%1=55 » 4f—:25%2+4x1=54
55-54=1 > EE A o

FIH/MTH



( C HU/NFTEEHCCEERG & T RETE S LR /K0 o2k & E R -
G BREFR R ETIRR 00 47 2 1BV ZRE » BB ARIVER > sTE/ NGRS 5y
5550459 (A)93 (B)93.1 (C)93.2 (D)93.3

SR> A | W | v | mi | ke

(2+8-7+3+10)+5=3.2

00+3.2=93.2 » 3 C - 2|48 | 7| #3410

( B 1540 - A B FE-7 - EBMRFE 17 B~ C D =BG AE IUS Sy » S L BRE
W A4S - 6 C BREJEBEEE S - RILEEE B ~ D WAL B Byfa]?
(A)6 ~ -4 (B)-6 ~ 6(C)-4 ~ 10(D)-1 ~ 11
<fEHT>
[17-(-7)]+4=6
JRAIE B(-1) > C5) » D(11) » RFy C BB F B E &
181% B(-6) » D(6) » HEB °

A D
| ] | |
I I 1

i ;
-7 17

(A )I6FVEKFEAE/KE T 185 AR BR S5 55 —HoesE » 3 Mg B A 7/Ki 7
14 2\ RBERIBUETE KR » F41% > VB KA [E) 3 3 558 —Homos » 18 a8
hRCEE R > RO SRR R E B RIMCE I R K =% )
O\ R B T4 (B R A 7K TR B ZE i R A BE AR 5 T)

(A)841 AR (B)842 AR (O)843 AR (D)844 AR

<fEHT>

(185-14)+3=57

57x18=1026

1026-185=841 » & A o

(A DITAE 14588EEL - FiERt E{2E 8T &8 —(EEEaFEL BT
=gt SRR F > Him S =0t EAVESEN > BT AT BRRRCE A4S -
CR1iE =gt VI SRiaTE K 630 55 E =gt LEmEFNIE %/
(A)30 (B)40 (C)45 (D)56

i OO
;33:2;3><3x5x7:18><5x7
18+5+7=30 » #E A @/

FAH/FTH



(D HIBANHAEIFHMELFIHIRA - %—%TE}&ﬁSB%{E&Té R REFEESE X

A o SRS — IR | SRS = © R
HEFAR TS @ L ® 202 o2
<fihF>

Do

-
yi

1 1 1. 2 2 3
l-o)x(1-—)x(1-=)== > 1-===2
(L= =3 55

( C )94z HtEz B s 4 (EF A5k e FHERF AT a T 4E 4 ([H R E -
EHERSRAR AT EE 4 (Eh okl e - TEPIRala N T4 4 B/ Ngfals - Al
4N T E N A %A &2 (A)280 (B)320 (C)340 (D)380 1

<f#fr>

A+4xA+4x4x4+4x4x4x4=34() » 75 C o

( COE=ZFEAREIES > EREMEYFEIFR4ERIE 5070 @ 55 E = ([@E K
E%/07 (A)61 (B)6T (C)71 (D)73

<fEAT>

RlEs 5070 2 B8 - Hos = (EEEF - VA —EEE 2 » TRI=ZSFEEYFE TR HET

B o

S —(EEES 2~ p o~ q H p?+4° =5070-22 = 5066

BB BT 5 DOMNNETE BB T EA EEE 1 2% 9 > i (B 5 E B~

Mz B M 60 HAE—MARE > i —{HEHE 5 % p=5" H ¢° =5066-5> =5041

Al g=71 > E=8u KE 71 » ZEC -

( A )H2L. (l+l+ ...... +L)(1+l+l+....+L)—(1+l+l+ ...... +L)(l+l+....+L):?
2 3 2020 2 3 2019 2 3 202002 3 2019
1 1 4039 1
A) — B) ~—— (C D) -
(A) 2020 B) 2020 © 4080400 D) 4080400
<MEAT>
a 1 1 s 1 1
=vA"
AT M=—+—+..+ » HIJE =M+ x(1+M)—-(1+ M + M
e 2 3 2019 Al ( 2020) ( )= ( 2020)
MM e M e e ML ey
2020 2020 2020 2020

(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-H{17#%) and the digit in ones place({E {17 #7)?
(A)9 (B)12 (O)15 (D) unsure
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(B )23.Right graph is made by 8 identical (*H[E]#Y)squares, what is ZABC?

(A)120° (B)135° (C)150° (D) 165° _
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(A )24. There are nine cards are labelled (Z=7E)from 1-9. Joe, Bill, and Cathy take three
cards each.
Joe said:  “The product of my cards is 48.”
Bill said: “The sum of my cards is 15.”
Cathy said “All my cards are odd numbers(Z7#%), the difference(Z£) between the
largest number and the smallest number arranged by three cards in different order 1s
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(C)Bill has the cards with 3,5,7 labelled. (D)BIill has the cards with 3,4,8 labelled.
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Joe &ft: T IRHY 3 SRR AR Ay 48 5
Bill &5 T 3R 3 R ZFIE 155
Cathy &ft: " 30V 3 sRREENE S > HERGR AR = Bl s N =8 2= 5 792 4
TFAFIERE? (A) Joe HUGE 2 ~ 3 ~ 8 (B) Joe HZE 2 ~ 4 ~ 6(C) Bill HizE 3 ~ 5~ 7(D) Bill
HE3~4-~8
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Joe 48=2X3X8=DX4X6
Cathy HUERIGREAEZ 8 > B 1 f19
WECE 1-3~5-7~94L5{F > Bill =5&F115 > VA 1 5REH > Cathy A 3 REH
cJoe B 1 EEE Bl Joe &2~ 38
Bill ) 4-~5-6 »Cathy;&1~7~9>3EA-

( C )25. As the graph shown, there are right angle line segments (B FaH745E%)formed by
three straight line inside a square, the length of three straight line is 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60
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